www.kaiser-kuehne.com Tel. +49(0)4254 - 93150

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

K & K Installation

Assign a device location considering the space requirements (impact area).
Slide direction recommended: north-east or in half-shade of trees.

. Excavate soil for foundations, according to drawing.

Please note: To achieve maximum stability and a safe installation, a
moderate level of soil solubility is required.

. Pour in a drain layer of gravel of approx. 10 cm thickness between the

boftom of the posts and plain base of foundation.

. Insert reinforcing steel into the corresponding holes of the posfs.
. Place posts type A and B (see foundation layout) info the respective

foundation hole, according to the corresponding number. Play level mark
(=aluminium blind rivet) complies with the installation depth. Align both
posts fype B by means of the play level mark facing info the same
direction (see detail or foundation layout).

. For installation of the pre-assembled components and/or single

parts, the screws slightly have to be lubricated with installation
paste!

Screw together platform and posts by using the middle hole in the
mounting brackets.

Tighten all screws after having aligned all components.

Install the slide exit with an inclination of 5° in sliding direction.
Screw connections see defails in attached list.

We recommend not to insert the protection caps enclosed before first
maintenance as they are only suitable for one-time use (see description in
item No. 9).

. Grout foundations with compressed concrefe C20/25, chamfer and round

off the edges, cover the foundations with a surface which meets the
requirements for impact attenuation so that ifs critical fall height is equal
to or greater than the maximum free height of fall of the equipment (acc.
to EN 1176-1). The run-out section fall zone must have surfacing with a
critical fall height of at least 1000 mm (acc. to EN 1176-3).

. Release for play after concrete foundations have set.
. According to maintenance instructions, check all screw connections after

4-5 weeks and retighten, if necessary. Afterwards cover the screw heads
with the top part of the protection caps. Strongly pound them (e.g. by
using a plastic mallet) until they audibly snap into the base part groove.

Please ensure that all special tools supplied (e.g. Allen key for secured
Allen screws etc.) and all specific documents which are or may be useful
for safety management acc. to EN 1176-7 (e.q. invoice, delivery note, order
acknowledgement, installation instructions, maintenance instructions) are
forwarded to the persons responsible.

Necessarily insert all attachment parts before
tightening the screws. It is NOT possible to insert
them afterwards.

Installation

Item-No. Description Scale Date
0-41880-701  Hill slide (4,00) 1:50  01/21 EB
with platform (0,20)

Page
1/5



AutoCAD SHX Text
1. Assign a device location considering the space requirements (impact area). Assign a device location considering the space requirements (impact area). Slide direction recommended: north-east or in half-shade of trees. 2. Excavate soil for foundations, according to drawing. Excavate soil for foundations, according to drawing. Please note: To achieve maximum stability and a safe installation, a moderate level of soil solubility is required. 3. Pour in a drain layer of gravel of approx. 10 cm thickness between the Pour in a drain layer of gravel of approx. 10 cm thickness between the bottom of the posts and plain base of foundation. 4. Insert reinforcing steel into the corresponding holes of the posts. Insert reinforcing steel into the corresponding holes of the posts. 5. Place posts type A and B (see foundation layout) into the respective Place posts type A and B (see foundation layout) into the respective foundation hole, according to the corresponding number. Play level mark (=aluminium blind rivet) complies with the installation depth. Align both posts type B by means of the play level mark facing into the same direction (see detail or foundation layout).  ! Screw together platform and posts by using the middle hole in the mounting brackets. Install the slide exit with an inclination of 5° in sliding direction. Screw connections see details in attached list. We recommend not to insert the protection caps enclosed before first maintenance as they are only suitable for one-time use (see description in item No. 9). 7. Grout foundations with compressed concrete C20/25, chamfer and round Grout foundations with compressed concrete C20/25, chamfer and round off the edges, cover the foundations with a surface which meets the requirements for impact attenuation so that its critical fall height is equal to or greater than the maximum free height of fall of the equipment (acc. to EN 1176-1). The run-out section fall zone must have surfacing with a critical fall height of at least 1000 mm (acc. to EN 1176-3). 8. Release for play after concrete foundations have set. Release for play after concrete foundations have set. 9. According to maintenance instructions, check all screw connections after According to maintenance instructions, check all screw connections after 4-5 weeks and retighten, if necessary. Afterwards cover the screw heads Afterwards cover the screw heads with the top part of the protection caps. Strongly pound them (e.g. by using a plastic mallet) until they audibly snap into the base part groove. Please ensure that all special tools supplied (e.g. Allen key for secured Allen screws etc.) and all specific documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the persons responsible.


U01423S JN0-Und 3pNs Iy

JJoddns (@a}s spns |y

9AINI 3PIS 1Y

1ybiedys apns iy

3AJNI 3PNS !

1yBiedys apns 1y

©§ 40 UoljeUNUl

UB Y4Im P311B4SUI 3Q JSNW UOI}IIS JNO-UNJ 3Y |

" paiyads uoljeul)dul

3y} WoJ) uol4RIAIP B Jnoy4im pauoljisod Ajuadoud aue
(S9AJN3) SuJn} 3y} jeyy ‘apns sy} s4doddns K1oAa141a))e
J1 48y} yans pajje4sul ag o4 sey jJoddns ap|)s ay |
"U01}33S Jno-unJ ay4 o} Kydde jou

saop siy] ‘(ybnouy apns ay4 4o 3Jyusd 3y} Ul padnseau)
UOI4RUIIUI §I3JJ0D 3Y4 Y4IM P3]|e4sul 3q 4snw Ajquasse
3PS 3y} JO SUOIYI3S (PIABM JO PaAJNI Jybiedys) |1y
‘A)jejuoziioy

pa)1B}SUI 3Q §SNW 34NYd 3Y4 Jo uol4I3s buijeys ay|
(wdoyje)d

Burpdeys smd iy ayy jo jybiay ayj jo wns) pansasqo
3q snw 3pNs ay4 Jo jybiay uoije)ieysul paryads ay |

SOPNS 1ITH M8M

JO UOIB||B$SUl 84} J0} SUOIJINI}SUI |eUuol}Ippe awos

3AINI 3PIS 1Y

0S1€6 - ¥Ser(0)67+ '[9L WODBUYSNY-I1BSIEY MMM

dnish3g veesz-a eresebieziei4 suyny g 1esey (9

uone|eisul ¥ 8 M

Page
2/5

oM
L
b
QY
..n_m/
—
8o
o
T O
g 1L
N ™
o
o
I
[0)
5o
5%
[& pup——
2=
[a g
—
o
~
o
. 00
o 0
Z -
£EY
= O
C
@)
d
©
©
pd
(7))
C

with platform (0,20)


AutoCAD SHX Text
Some additional instructions for the installation of         K&K Hill slides The specified installation height of the slide must be observed (sum of the height of the hill plus starting platform). The starting section of the chute must be installed horizontally. All (straight, curved or waved) sections of the slide assembly must be installed with the correct inclination (measured in the centre of the slide trough). This does not apply to the run-out section. The slide support has to be installed such that it effectively supports the slide, that the turns (curves) are properly positioned without a deviation from the inclination specified .  The run-out section must be installed with an inclination of 5°.

AutoCAD SHX Text
hill slide steel support

AutoCAD SHX Text
hill slide straight

AutoCAD SHX Text
hill slide starting section

AutoCAD SHX Text
hill slide curve

AutoCAD SHX Text
hill slide curve

AutoCAD SHX Text
hill slide run-out section

AutoCAD SHX Text
hill slide curve

AutoCAD SHX Text
hill slide straight

AutoCAD SHX Text
playing surface mark


=

0011
uoljejuallo waoyye)d

3eyuns buife)d

(€-9LLL N3 04 D3e)

U01}23S JNo-undJ 3y} puokag ww gpQz 4S9 48 04 papiaoJd 3Q 1)eys pue wwoQQl
}sea) je 4o jybiay 1184 |BI1}13 B 3ARY ||BYS UOI}I3S NO-UNJ 3y} PUNOIR dIB}INS 3y ]|
LLLL N3 Y4im

9IUBPJ0IIE Ul PBI}I4J3I 3Q 4SNW UISOYI 3G 0] |BII3JRW J3y40 Aue 4o SIISIIa3RIRY)D
Buigiosqge-soys 8y (L-9LLL N3 @3S) % 31ge} ul uaalb sjuawasinbad sy}

133w ysnw uol}Ias buipns ayy uiyyim eade Jaedwi ayy Joy jerdajew bueyans ay|
13A3] punoJb

pue ajnys ay4 Jo Wo}40q 3y} UM }aq 2IUBYSIP |BIIJISA 3y} WO J)NS3J B3R
Joedwi 3y Jo 3zIs ayy pue (xy) jybiay )1ey a3y ayy 'syyoud a4is ay4 uo buipuadag
(L-9LLL N3 33s) juswdinba ayy jo 11ey jo 4uybiay aa.4y ayj ‘ueyy

Jajeadb Jo ‘o4 jenba aq ))eys budejans ayy jo jybiay 18y 1€d14143 3y | ‘buizeyuns
Burjenuajie jaedwr aney jsnw eade jiedwi aJdijua ay4 'JUaWIAOW pPaliog 04 an(

"wiz paadxa jou ||Im JyBiay |lej ay) Jeys yons padeys
aq Jsnu ||1IY 9y} Jo 9SIN0I 9y} ‘UoI3onisuod apl|s ay} o0} an( :9)oN

O
>

MY 9Y4 40 3s4n0d 04} Ide J3dazp

Bip Jo sjuswaJinbad o} "33 jJoddns spi)s 4n)
"9}IS U0 4I341ydJe JO SUOIINI4SUI Y4 JOo/pue
uole3i4133ds buluue|d Japisuod aseald

1Y 3yY4} 4o asanod Auejdwax]

}sod

woyjoq

d1ppiw
do} FENBLN]
:uot}isod Burjunow

ajoy 1p

wJoyjerd

0l
Buiuajsey wioyieyd

08'¢

0Z'0
7l

0S1€6 - ¥Ser(0)67+ '[9L WODBUYSNY-I1BSIEY MMM

dnish3g veesz-a eresebieziei4 suyny g 1esey (9

uone|eisul ¥ 8 M

Page
3/5

oM
L
b
QY
..n_m/
—
8o
o
T O
g 1L
N ™
o
o
I
[0)
5o
5%
[& pup——
2=
[a g
—
o
~
o
. 00
o 0
Z -
£EY
= O
C
@)
d
©
©
pd
(7))
C

with platform (0,20)


AutoCAD SHX Text
Exemplary course of the hill Please consider planning specification and/or the instructions of architect on site. Cut slide support acc. to requirements or dig deeper acc. to course of the hill.

AutoCAD SHX Text
platform orientation 1:100

AutoCAD SHX Text
playing surface

AutoCAD SHX Text
Due to forced movement, the entire impact area must have impact attenuating surfacing. The critical fall height of the surfacing shall be equal to, or greater than, the free height of fall of the equipment (see EN 1176-1). Depending on the site profile, the free fall height (hx) and the size of the impact area result from the vertical distance between the bottom of the chute and ground level  The surfacing material for the impact area within the sliding section must meet the requirements given in table 4 (see EN 1176-1). The shock-absorbing characteristics of any other material to be chosen must be certified in accordance with EN 1177. The surface around the run-out section shall have a critical fall height of at least 1000mm and shall be provided to at least 2000 mm beyond the run-out section (acc. to EN 1176-3).

AutoCAD SHX Text
platform

AutoCAD SHX Text
platform fastening 1:10

AutoCAD SHX Text
post

AutoCAD SHX Text
middle

AutoCAD SHX Text
top

AutoCAD SHX Text
bottom

AutoCAD SHX Text
mounting bracket

AutoCAD SHX Text
drill hole position:


aseq ui-bnyd

jJoddns apns — |

91943U0d

|

|
M

|

|
<
AN

|

g

w

‘ysod 1334s

SSI)UIB4S 3Y4 04Ul MO13G WOLY 3SEQ 4J3SU|
‘(dopuidb 31bue b3 asuendde ajenbape
y}im) y4buay pasinbau ayy oy jsoddns

9PIIS 1994S SSIUIRYS U34Joys 'AURSSIIAU J|
:SM0])0} SEB pajunow ag 04

0z:1L

Joddns apijs 1o} aseq ui-bn|d

SL0X0%'L

9/9J3U0d

0%°0

19A3) ke

19A3) Keyd

19Ae4b 0zl
(x1) J adky
aseq
no v | .v
@ 8 7 .. 4
) 7 - Yy Jsod
~ 0L'0Y
~ 7 19A3)
a3e}uns buife)d
7 Jsoddns apis 404 yJew yIayd
N
| Sl
2o 0z, MJBW YI3YI JO |1 43P
(xg) g adhy

19Ae4D
34342U0)

leisapad se)ngny
1934s buuouiay

0%'0

s | %

yJew I3y 4
aseyuns buifed 7

3seuans buife)d

S
7100
0zl

(x4) v adky

0S1E6 - ¥S2r(0)6Y+ ‘|81 WO0D 8uUYaN)-1asiey MMM

dnusA3 vgeze-a eyesebuezield suyny g Jesiey

uolje|[eisul ¥ 8 M

Page
4/5

Date
01/21 EB

Scale
1:50

Hill slide (4,00)

Description

0-41880-701

Item-No.

Installation

with platform (0,20)


AutoCAD SHX Text
gravel

AutoCAD SHX Text
concrete

AutoCAD SHX Text
type B (3x) 1:20

AutoCAD SHX Text
play level

AutoCAD SHX Text
slide support

AutoCAD SHX Text
base

AutoCAD SHX Text
detail of check mark

AutoCAD SHX Text
post

AutoCAD SHX Text
1:5

AutoCAD SHX Text
check mark for playing surface level

AutoCAD SHX Text
plug-in base 

AutoCAD SHX Text
slide support

AutoCAD SHX Text
to be mounted as follows: If necessary, shorten stainless steel slide support to the required length (with adequate appliance e.g. angle grinder). Insert base from below into the stainless steel post.

AutoCAD SHX Text
type C (1x) 1:20 

AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete

AutoCAD SHX Text
gravel

AutoCAD SHX Text
reinforcing steel

AutoCAD SHX Text
concrete

AutoCAD SHX Text
playing surface check mark

AutoCAD SHX Text
tubular pedestal

AutoCAD SHX Text
type A (4x) 1:20

AutoCAD SHX Text
playing surface


www.kaiser-kuehne.com Tel. +49(0)4254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation

| e \ T
/%
£
1,00 1
=
I I
TR
[
i T
- I
£2 [ I
5 S el |
H 11
§- E | | o)
gr , (N 3
3o SNV
5g I I
N
E= I 09
2L E =
£2g @ i +
O v : // CD‘ //
Ng?o Vi / /
225\ 7062 y
Fe2 %“/—7/( <
/ !y aa
oy %
oy =
oy
I 150 I é) “
I & B
| il I 1
VTN
\
\ A\ \ \\
\\ N\ o
\ ©
A =
069 _\
\ \
\ \;.E’?\\
W ol il
\ meéit
I =
zono 1S 3
_ Il ‘E it -
S 2 J~ _u_'r\'r
TR=- T <,
25t R 2
85 B E °
St N
95 08'0 v /
S /4 | ul
‘ €6'€ ‘
. Item-No. Description Scale Date Page
Installation 0-41880-701  Hill slide (4,00) 1:50 01/21EB  5/5

with platform (0,20)



AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
The size of the impact area depends on the course of the hill. Example of a maximum fall height of 1,50 m.

AutoCAD SHX Text
check mark for playing surface level

AutoCAD SHX Text
+0,20

AutoCAD SHX Text
A

AutoCAD SHX Text
001

AutoCAD SHX Text
post inscription

AutoCAD SHX Text
reinforcing steel

AutoCAD SHX Text
041880701-001

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
002

AutoCAD SHX Text
004

AutoCAD SHX Text
003

AutoCAD SHX Text
B


Kaiser & Kiihne Freizeitgerate

List of screw connections
Page 1 /I 2

ltem: 041880701 Order: 1294230
Hill slide (4,00) with starting platform 0,20
Location: Building Project:
4 x SFES1200014 Platform at stainless steel post/tubular support

(Hexagon screw with red cap/nut platform-site)

per SC | Total | K&K-ltem Marking
1x 4 x 3430025 Washer @ 13 DIN125 A2
1x 4 x 3300055 Red protective screw cap - upper part, domed M12
1x 4 x 3300054 red protective screw cap - lower part, domed M12
1x 4 x 3430021 Lock nut M12 DIN985 A2
1x 4 x 3400363 Hexagon head cap screw M12 x 150 DIN931 A2
e
4 x SFRS1210001 Standard bolting of barriers, handrails, slides
to Robinia posts
per SC | Total | K&K-ltem Marking
P 1x 4 x 3300055 Red protective screw cap - upper part, domed M12
— 1x 4 x 3300054 red protective screw cap - lower part, domed M12
&\;\\—
G@ 1x 4 x 3430025 Washer @ 13 DIN125 A2
0 1x |4x |3400702 | Hexagon head cap screw M12 x 160 DIN931 A2
with screw security coating FGB red
.
2 x SFES1270001 Reinforcing steel for stainless steel posts
' per SC | Total| K&K-ltem | Marking
2x 4 x 2130000 Reinforcing steel @ 10 x 310 DIN 488
2 x SFES1270007 Reinforcing steel for tubular pedestals
per SC | Total | K&K-ltem Marking
1x 2x 2130000 Reinforcing steel @ 10 x 310 DIN 488

Im Siidloh 5 27324 Eystrup www.kaiser-kuehne-play.com

& +49 4254 9315-0

+49 4254 9315-24




Kaiser & Kiihne Freizeitgerate

List of screw connections
Page 2 | 2

ltem: 041880701 Order: 1294230
Hill slide (4,00) with starting platform 0,20
Location: Building Project:
3 x SFXS1070004 Slide support post below hill slide
per SC | Total | K&K-ltem Marking
2 x 6x |3430025 Washer @ 13 DIN125 A2
2x 6 X 3400622 Dome head security bolt M12x25 PinHexagon A2

safety coated thread

1 x SFXS1070008 Slide run-out section (midi) stone bolt assembly

per SC | Total | K&K-ltem Marking
S 4 x 4 x 1070365 Set of stone bolts for slide run-out section
- M12x160
Spielebene
] Playlevel
1 x SFWZ0000005 Allen key security hex socket AF8
per SC | Total | K&K-ltem Marking
1x 1x 3490057 Allen key security hex socket AF8
1 x SFWZ0000014 Lubricating metal, bag (4 g)
per SC | Total | K&K-ltem Marking
1x 1x 5300024 Metaflux fitting lubricant 2x4 g

Im Siidloh 5 27324 Eystrup www.kaiser-kuehne-play.com

& +49 4254 9315-0 +49 4254 9315-24




	Pläne und Ansichten
	0-41880-701m_me_mf-1
	0-41880-701m_me_mf-2
	0-41880-701m_me_mf-3
	0-41880-701m_me_mf-4
	0-41880-701m_me_mf-5


